Solutions for Performance Assessments 

(A Metric Peg In A Standard Hole)

1) Given the standard size of a carton and the quantity to be shipped, students will determine the volume of space required for the goods to be shipped.

Dimensions for the carton: height of 18 inches, width of 24 inches, and a length of 30 inches.

Quantity of cartons to be shipped: 115 cartons.

18 in. = 0.4572 m, 24 in. = 0.6096 m, 30 in. = 0.762 m

0.4572 m X 0.6096 m X 0.762 m = 0.2134 m3
0.2134 m3 X 115 = 24.541 m3 of space required.
2) Given the metric size of a shipping container, students will determine the standard volume of space available for goods to be shipped.

Dimension for the container: interior length of 15.0876 meters, width of 2.4892 meters, and height of 2.7051 meters.

15.0876 m = 49.5 ft., 2.4892 m = 8.167 ft., 2.7051 m = 8.875 ft.

49.5 ft. X 8.167 ft. X 8.875 ft. = 3587.865 ft3 of space available.
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